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Question 3
Lt & be the reglon in the first guadrast enclosed by the graphs of 7{x) - S ];
and pfx} = sin{ay). as shown in the figure above.

1 Ly
fa} Write an equation for the Hne teagent to tne graph o 7 at v = I vE
(bY Findthe area of K
{ci Write, bur do not evaluate, an integral expression for the velume of the solid

generated when R is rotated about the horizontal line v = 1 R
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Cuestion 1

T the Sewre above, R is the shaded region bn the fivst quadrant bounded by the v
grapht of p = {3 - 1}, the horizontal Hne v = 6. and the vertical Hine «© = 2.

{a) Find the area ol K,

) Find the vohime of the solid genevated when 788 revolved about the
hortrontal line » = 8,

{t} The regian R is the base of a solid. For this solid, each cross section
perpendicolar to the v-axis is a square. Find the volume of the solid

! 1 : Correct limils in an integral in (a), (b},
‘ or {¢)
|

%
() [ (6—4In(3- 1)) dv = 6.816 or 6817 o { b+ integrand
4 ! 1 anywer
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{h} ?rj-o f\['t% - 4in{3 - .1"]\]3 {8~ {j]z) dx 3. { 2 :integrand
= 168.179 or 168.180 1 answer
al . . 2 intepr
(© [(6 - 43 ) de = 26.266 or 26.267 g, | & integrand
Lo ' : | 1:answer
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Question 4

(et & be the region v the first quadrant enclosed by the graphs of p = 2x und I‘r
3
h . "

3 = &7, as shown o the Haure above,

‘.4__.
fay Find the arco of £,

g The remion B bs the base of a sabid, For this solid, areach ¢ the cross 1+
section perpercficulur to the x-axis has aren Al v) = sin| = .\:}. Find the

. R 24
vohume of the solid.

{r} Another solid has the same base R. For this solid. the cross sections _
perpendicular to the jp-axis are squares. Write, but do not evaluate, an by
integral expression for the volume of the solid.
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Question 4

Let & be the region bounded by the graphs of v = Jr and

X e e

vm e is shown infhe figere above.
)

i) Find the wea of R

(hy The region R s the base ol a sotid, For thiy selid, the
cruss sectians perpendicular 1o the v-axis are squares.
Find the volume ot tis sobid,

(¢} Write. but do not evaluate, an integral expression for the
votiwme of the solid generated when R is rotated about
the horizontal Hoe » = 2.
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